MeTtoa rpynnupoBKu 47151 pa3/10XKEHNST Ha MHOXKXUTEIN pumep 1
1) ax + 2yb + xb + 2ya=2y(b+a)+x(a+b)=(a+b)(2y+x)

2) 14xy-15-21x + 10y=7x(2y-3)+5(-3+2y)=(2y-3)(7x+5) , @ e "2
3) 2az + z-4a + zb-2-2b=2a(z-2)+z(1+b)-2(1+b)=2a(z-2)+(1+b)(z-2)= a(k-F)+ell-

=(z-2)(2a+1+b) (2a +c)
2

2az + z-4a + zb-2-2b=z(2a+1+b) -2(2a+1+b)=(2a+1+b)(z-2) Ilpumep .
ax’ +ecx' —cx—ax+a+c — P ZpYRALY
x (a+ec)—x(atec)+1(a+c)

(a+c)(x2 —x+1)

2az + z-4a + zb-2-2b=2a(z-2) +b(z-2) + 1*(z-2)=
=(z-2)(2a+b+1)

a3
4xyz"2a - 8xyz"2 -7xa + 14x +2az - 4z

3AYEM HAM BOOBLUE PACKITAOBbIBATb UHTO-TO HA MHOXXUTENIN???

1)paamn cokpalleHust apoben _—

(2az + z-4a + zb-2-2b) / (2a+1+b)=(z-2)(2a+1<b) / +1+b)=z-2 —2 \3

2)peLueHnit ypaBHeHun - D\

x+2=6 —
x=4

XN2-3x+2=0

XN2-3X+2=x"2-2x-x+2=x(x-2) -1(x-2)=(x-2)(x-1)
(x-2)(x-1)=0

(x-2)=0 x=2

(x-1)=0 x=1
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nepBbIN CNYTHUK
4 okTabps 1957 roga




